Grain yield (q/ha) data of AVT/IVT-SAL-ALK (2023-24)

CSSRI Karnal Dilipnagar Ayodhaya Fatehpur Zonal
Genotype Entry code - - - - -
Yield [Rk| G | Yield | Rk | G| Yield | Rk | G| Yield |Rk| G [ Yield | Rk | G

BH-1061 AVT/IVT-SAL-ALK -4 22.07 (13| 0 | 25.11 | 18 | 0 | 25.97 7 106031 (11( 0| 3337 |16| O
BH-1062 AVT/IVT-SAL-ALK -18 29.73 [ 1| 1| 3949 | 11 | 0| 2536 | 9 |0|56.06|15| 0 | 3766 | 10| O
HUB-293 AVT/IVT-SAL-ALK -16 2463 | 91 0] 2699 | 17 | 0 | 33.64 2 |1)5513(16( 0 351014 O
HUB-294 AVT/IVT-SAL-ALK -11 2147 (14| 0 | 51.78 | 1 1] 23.01 |10|0(|5957|13| 0| 3895 | 5 | 0
KB-2031 ** AVT/IVT-SAL-ALK -17 11.41 | 18| 0 | 45.65 5 0| 34.12 1 (1]6739| 2| 1| 39.64 4 0
KB-2203 AVT/IVT-SAL-ALK -13 2358 (10| 0 | 28.26 | 16 | 0| 29.11 | 5 |0|62.08| 5| 0| 3576 [ 12| O
NDB-1829 AVT/IVT-SAL-ALK -8 2243 (12| 0 | 34.78| 12 | O 8.64 181 0628 4| 0| 3228 |17 | O
RD-3080* AVT/IVT-SAL-ALK -15 2297 (11| 0| 4167 | 9 | 0| 3074 | 4 |0]|59.89|12| 0 3882 | 6 | O
RD-3101 AVT/IVT-SAL-ALK -14 21.21 (15| 0 | 47.43 4 0] 2264 | 11 | 0|5757|114| 0| 3721 | 11| O
RD-3102 AVT/IVT-SAL-ALK -10 2783 [ 6 | 1 |5000| 2 | 1| 2059 (13 |0|67.90| 1| 1| 4158 | 1 1
RD-3103 AVT/IVT-SAL-ALK -6 1412 | 16| 0 ( 3138 14 | 0| 16.67 | 16 | 0| 43.24|18| 0 | 2635 | 18 | O
RD-3104 AVT/IVT-SAL-ALK -9 26.85 | 8 | 0 | 44.75 6 0 | 25.85 8 | 0(53.54]17| 0 | 37.75 9 0
RD-3109 AVT/IVT-SAL-ALK -7 2781 | 7 | 1 | 48.88 3 1| 26.57 6 |0]|61.05( 6| 0 41.08 2 1
RD-3110 AVT/IVT-SAL-ALK -1 2836 [ 4 | 1| 3279| 13 | 0| 1944 ( 15| 0]60.33|10| 0 | 3523 (13| O
RD-3111 AVT/IVT-SAL-ALK -12 13.04 | 17| 0 | 43.84 7 0| 15.73 | 17| 0(60.90| 8| 0| 3338 15| O
NDB-11730 AVT/IVT-SAL-ALK -3 2952 [ 2 (| 1|4187| 8 | 0| 1999 (14]|0]|60.60| 9|0 3799 | 8 | O
RD-2794 © AVT/IVT-SAL-ALK -2 2835 ( 5 1|3080| 15| 0 33.15 | 3 |1]|6731|3|1(399 | 3|0
RD-2907© AVT/IVT-SAL-ALK -5 28.84 ( 3| 1|40.76 | 10 | 0| 2252 (12| 0|61.05|/ 6| 0| 3829 | 7 | O

G.M. 23.57 39.23 24.10 59.82 36.68

S.E.(M) 1.17 1.31 0.81 1.71 0.64

C.D. 2.77 3.09 1.91 4.04 15

C.V. 9.91 6.66 6.69 5.70

DOS 15.11.23 20.11.23 25.11.23 18.11.23
** = AVT-II

* = AVT-|




